POWER
BELT

DFU TIPUS
DFU TYPE
Q Qil Hole
8-X thr. S
i
oz Wd 89
. .
sz ) I D D A B L W X H Q n @ C(a K
ode Tipus
s Balos L= (mm) ) (N/jm)

81.003.014 - DFU01604-4 4 2.381 28 48 10 80 38 55 40 M6 1x4 9730 24060 430
81.003.015 81.075.015 DFU01605-4 16 5 3.175 28 48 10 100 38 5.5 40 M6 x4 13800 30520 4440
81003016 81075016 DFU0T610-3 0 375 28 48 10 108 38 55 40 M6 13 1030 24010 350
81.003.019 - DFU02004-4 4 2.381 36 58 10 80 47 6.6 44 M6 x4 10660 29870 510
MOBO0 | GOS0 DONGSA 5 35 3% S 10 101 & 66 4 M6 Tt IS0 s 50
81.003.025 - DFU02504-4 4 2381 40 62 10 80 51 6.6 48 M6 x4 11800 37950 600
81003026 81075026  DFUO2505-4 50375 40 6 10 101 51 66 48 M x4 17240 49040 620
81.003.027 - DFU02506-4 25 6 3.969 40 62 10 105 51 6.6 48 M6 1x4 23180 60570 640
81.003.028 - DFU02508-4 8 4.762 40 62 10 120 51 6.6 48 M6 x4 29630 73130 670
8103029 81075029  DFU02510-4 0 4762 40 & 1 U 51 66 48 M6 1d 2950 72950 670
81.003.031 - DFU03204-4 4 2.381 50 80 12 80 65 9 62 M6 x4 12960 48380 710
81003032 8107503  DFUO3205-4 5375 S0 8 12 102 6 9 6 M T 1920 640 740
81.003.033 - DFU03206-4 32 6 3.969 50 80 12 105 65 9 62 M6 x4 26320 79790 780
81.003.034 - DFU03208-4 § 4762 S0 8 12 12 6 9 6 M x4 33870 9620 820
81.003.035 81.075.035 DFU03210-4 10 6.35 50 80 12 162 65 9 62 M6 x4 48050 122080 820
81.003.038 81.075.038 DFU04005-4 5 3.175 63 93 14 105 78 9 70 M8 x4 21100 79880 870
81,003,039 : DFU04006-4 6 399 6 9% 4 18 78 9 70 Me d 28730 99130 910
81.003.040 - DFU04008-4 0 8 4.762 63 93 14 132 78 9 70 M6 x4 37120 119470 960
8103041 81075041 DFUOA0T04 0 635 6 9B 14 165 78 9 70 M§ Id 53990 155000 990
81.003.045 81.075.045 DFU05010-4 10 6.35 75 110 16 171 93 1 85 M8 x4 60040 196140 1170
81.003.047 - DUOSO4 . 20 74 75 10 16 20 S 1 8 Mg ba 740 2580 10
81.003.049 81.075.049 DFU06310-4 10 6.35 9 125 18 182 108 1" 95 M8  1x4 67190 253580 1390
81.003.051 - DFU06320-4 ® 20 9.525 95 135 20 29 115 135 100 M8 x4 114440 366530 1520
81.003.052 - DFUOS010-4 10 635 105 M5 20 182 125 135 10 M 1d 73460 319530 1560
81.003.053 - DFU08020-4 0 20 9.525 125 165 25 295 145 135 130 M8 1x4 129110 477470 1870
81.003.054 : DFUOC0-4 100 20 955 150 202 30 340 170 175 155 M8 Txé 143030 606980 2220

54 ‘ WWW. powe rb e I_t . h u A termékek gyartoja / Producer of the items: @ TBIMOTION®



